Joobotbbubbotgddboootgdbobood

LU O






L] [

010
1.1
1.2
1.3

g

I
I I
I

01000000000

020
2.1
2.2
2.3
24
2.5

ggobooogobbooooooooag

OO0 e s e e e
I I 1
I I 1
I
I

020000000000

030
3.1
3.2
3.3
3.4
3.9

3000000000 PSSOOOOOOOODOO

I
I 0
I

03000000000

040
4.1
4.2

AVROPSSOGOVOOOOODUOOOOOODODODOOODODODODODO

I
I

15
24

29

55

57
o7
o8
58
63
64

69



4.3 I 75
4.4 PSSOOO0O0OOOOODODOD . ..ottt e e e e 83
4.5 OO0 o 90
04000000000 93

050 AVROOODOOOOOOOOOOOOOOODOOODOOUODODODOO

goo 95
5.1 OOO0 . s 95
5.2 OOO0 . s 95
5.3 obobooboooboboooboooobooooboag e 97
5.4 I I U 102
5.5 OO0 o 109
O5000000000 111

060 gbobobogooobuooobobbooobbboooobobobuoogn 113

6.1 OOO0 . s 113
6.2 I 0 114
6.3 ODOO00000O0 . .00 00 e 116
6.4 OOO00000O00 ..o 00 o s 118
6.5 I I U 125
6.6 I 131
ODe00dO0DOOOoODO 133
070 oo 135
7.1 OOO0 . s 135
7.2 I I 1 136
7.3 obobooboooboboooboooobooooboag e 137
7.4 OO0 o 139
OO A 0O0O0O0ODOOOODOoOooo 143
Al I I 143
A2 I 145

O0B OO0O0D0000PSSOD Z,(k)D Z(k)D Z,(k)000000 147



oo C 04000000000
C.1 gogoooooono .
C.2 ggboooooooo
C.3 ugobooboogooo

Ooo0D 05000000000
D.1 Jub0ooboobon
D.2 ugobooboogooo
D.3 Joopoooooooo
D.4 gogobooboogooboo

OO0OE 0DOO0O0OdgO0O

E.1 pul . ... .....
E.2 dqOOooOOoooono .
E.3 0000000 dgOO

gbobooogoooo

gooodgd

I

I

I

149
150
153
154

159
159
162
162
164

167
167
168
169

171






Joobobobbobid

t .00 (s)

kL  :.000000000000000 Ok=...,-1,0,1,2,...0
D :gdoooooooooooooooooooooon

Ag oo ououooon
o :000000000000000000000 AUOO BOOOOO (rad)
¢ 000000 pk)0000000000 (rad)

D :DDDDDDp(k})DDDODDDD

D, :D(k)O0D000000000O

Unew : 000000000000000000

ew 00000wOOO0OO0OO (pu)0w=d,q,fO

vy 00000wO0OO000 (pu)Dw=d,q,f, kd, kqO

T 00000 w000 (pu)0w=d,q, f,kd, kqO

X, 00000 000000000 (pw)Dw=d,q,f,kd,kqO
Xme :000000000000000 (puw.)dmw = md, mqO0
w, 00000000 (0O0O) (rad/sec)

w :0o0o0od (pu) = (w —wp)/wps

wp 0000 (rad/s) =1207

TQ. : 0000000000000 (pu)

TQ,, : 000000000000 (pu)

P, 00000000 (pu.)

P, 000000000 (pu)

P, 0000000000 (pu)

Q 0000000000 (pu)

) :000000000000000 (rad)

V, 0000000000 (pu)

V,, :00000000000 (pu)



:d000000000
rquUuoooboogn
:0o0o0ooobobuoogn
:0oooogn

. 0000000000 (pau)
0000000 (pu)
.00000000000000000 (p.u.)
. PSSOODO
. PSSOOOODO
00000000000
0000000 (w=0,0<0)00 600 (rad)
. 0000000 (s) =2H
. 0000000
.d000ooo (s)
000000 (s)
. d0000D000O0 (
000000000 (pu
(
(

pu) (yp,0000D0)



Jooobbbod

SVC
AVQC
AVR
PSS
GOV
CPSS
FLPSS-2
FLPSS-3
CGOV
FLEX

Static Var Compensator 0000000000000
Automatic Voltage and Reactive Power(Q) Controller
Automatic Voltage Regulator 0 00000000

Power System Stabilizer 00000000 0OO0O

Governor 00O OOOOODO
Conventional PSS OO0 00000000O00OOO

2-dimensional Fuzzy Logic PSSO20 00000000 PSSO
3-dimensional Fuzzy Logic PSS 03000000000 PSSO
Conventional GOV 00000000

Fuzzy Logic Excitation System 00 0000000000000






10

L] [

1.1 0000

ogoo00o0oo0o0oo00o0o0ooouoggooooooooooooo oo oo ooooo
ogoo0o0o0o0oO0o000oooooogoooogoooooooo o oo oo ooooo
0000000000000 LO UL UULDULg Aoogo
ooooooog

%:Am (@ € R") (1.1)
goooooooooooooooooooooooooooooo o oooooooo
goooooogdg

dx

o =@ (x € R™) (1.2)
ogoooooooooooog

O000o0o0ooo0ooooooooo0ooo 11000000000 ooooon
ooo0o0oooogogooooooooobooooboooooooooooggooo
O0o0oo0oooooboooboooooooooooooooooogooooogog
oo o oooooooo
oo o oooooooo
o000 ogggog

goooooooooooooooooooooooooooooooooooooo
goooooooooooooooooooooooooboboooooooooononoo
ogo0o00oO0oo0o0000o0ooooooooogoooooooo oo oo oooooo
o000 o oo ooooooo
oo o oooooooo
ogo0o00oO0oo0o0000o0ooooooooogoooooooo oo oo oooooo



10 g1gd 00
Joogdgg Joooogd
&= Ax = f(x)
ogooobooooobooo goboboooooobooooaon
goboooooon gbobobooooobobooonbooboo
goboooooon gbobbogoboobobooobbooon
gooooooobooo gboooboooooboboooooo

011 O00O0O0DO0oOoooooooDo

gobbbooobobbooobbbooooobobooobbboooobbbuooon
gobbbooobobbooobbbooooobobooobbboooobbbuooon
ggoooobbooooobbooooobboooobbbuoooobbbbooooo
gobbbooobobbooobbbooooobobooobbboooobbbuooon
gopbooogd

19700000 198000 000000000 0OO0ODO0OOODbDOObDObObOODbOO
goobobooooobodooobbooooooboboooobobboooobbboooo
gobobboooobobbooobbbooooobobuooobbboooobbbuooon
goobdoooooboboooobobooooobobooobobobboooobbboooo
gooboooooo

gogbobbooooboboboogobboooobbbooobobobbooobobbuooon
gobbbooobobbooobbboooobobobooobbboooobbbooon
000000O00000O000oO00oO0D Jpo0o0o0o0ooooooOoooOon
000000000000000000000O00O000DO0UDO0OO0ODO0ODOO 2|0
0000000000000000000000000000000O00O0O0O0O0 [3-5]0

gogobbooobooboooobboooobbbooobobbooobLbbuoooo
gooboboooobobobdooobbbooooobboodobobboooobbboooo
gobbbooobobbooobbbooooobobooobbboooobbbooon
gobobbdoooobboboooooboobooooobbbooooobbbobooooo
gooboboooobobobdooobbbooooobboodobobboooobbboooo
gobbboooobbbboooobboboooobbboooobbboooobobon
gobobooooboboogan

000000 [1,68)000000Zadeh0 000 1965 0000000000000
ooobooobowwroobooobooooboooboboobooboboooboboooo
gobobbooobobbooobbbooooobobuooobbboooobbbuooon



1.1 0000 11

p(x) pa () po ()
1f-----e 1 1t
(:) - T : - T x
0 5 0 5 0 5
() 000000000 (b) 0000000001 (¢)000000000 2

011 0O0OO0OoOoOooOOoOoooboooboooboooooDbo

boboobuobobodbooboboobooboboboobooboooaboo
boboobuobobodbooboboobooboboboobooboooaboo
gboboobooboboooboobobooboobobbobooboooboaoo
boboobuobobodbooboboobooboboboobooboooaboo
0000000000000 00o0OO0000ooooOoO0o000DADODOO BOOOO
Oobobooobobooobolmbooooboob 20000000000 0bDO0OO
Ooboobooboobooooobooboboobooboboboooboobooo 10coo0o0O0bDOn
0000000000000 0D0 [7MU0000000000000DO0DO0ODO0OO

OooooooooOooOoooooOoooboOoOooooooDOb0oobOOoOoooDOOH. E
MamdaniO 0 min-max-0 00000000000 8000000

gbdboobdgobobbodbooobodbuoobooboboobooboan
OO000000ooooOoc00oooObo00ooooo0oooOoCooDoDOosvVDo
ODooO0ooOoOoooooosvooooooooobbooooboooboooooboooo
Ux0y 0000020 y0O000O00O00O0 z00000000000000000¢0
Ay, By, Cy, A, By, C, 00000000

o000 10 OD0ODz0O Ay 00000OD0 yO BLOOOOOz0O C;0000
00D 20 D0ODz0O A, 00000D yO B, OOOODOz0O Co0000O

goboboooobobbooooboboboooooooo
OO00b00dooo0obboooooboboooooobooobobobboz0ObbSOOOO
000000000000 p(x)00O0OO0O 1.1(a) 0000000000 0O0O0O0O 100
Ooboob ooooboboOobooobooboooboooDobbOoooobooboOooDooo
00000000000 D0O0ODO0O0O00Db0Ob0x0b0 490 5.1 000D0O0DObHODO
OO0D0000z0 4990 5.0100000H000000000000DO00O0OO



12

g1gd 00

012 0000000min-max-0000

000000000020 050000000000000000000000000
000000000 1000000000000000000000 1.1(b) O p(z) O
0 1.1(c) O pp(x) 000000000000 wy(a), pe(e) 0000000000000
00000000000000000000000000

00000 Ay, By, Cy, A3, B,, C,00000000000000C 1.2000000
0000000000minmax-0000000000 ¢/, 0000000 2 0000
000000000000

00000 10000000 4, B 0000000 ¢,y 00000 a,b, 000
00000000000000a; 06, 000000000000000000 ¢;00
000000000 mn00000000000000000000 1.2000000
000000000000000000000 20000000 12000000000
0000000000000000

000000000000000 mexO000000000000000000 1.20
000000000000000000000000000000000 27000000



1.1 0000 13

goobooooobobuooon
gbobobogobbobuooobbbuooobobooooooo

e OO OOODO
e JOOOUOODODODOOO
e 100D 0DOmin-max-0000000OOOOO

goobooooobuoooobooboboooobbotoodobboooobbbooooo
goon

000 [9,1000000000000 20000000000000000000ODOO
0019700 00000000DO00000DbOO0oDOO0OObOUODOoObOODbDOobOOoOobOooO
gobobooooobobuooooboobooooobbotoodobboooobbooooo
obobooboboboobooboobobboboboobobbooboobooo
gobboooobobuoooobobooooboboooobbboooobnbbooobo
goobooooobobooon

O0000O000OResslerlD 000000 [11]

dx

% y—z (1.3)
dy

dz

& b+ z(x —c¢) (1.5)

00000000 z=4, y=-1, z=40000000 a=0.398, b=2, c=400
00000000000 1.30000000000000000 1.3000000000
oooooO

gboboboboooobobuoooobbooobobbbooobobobboooobbooo
gobooboooooboboooobooboooon
gooobobooooobuoooobbuooobobobboooobobooon
gboboboboooobobuoooobbooobobbbooobobobboooobbooo
goobbooooboodoobooooooobooooobooooboboom
goootboodooobdoooobbuoooobobboooobobboooobbooo
gobbobuoogboboboooooboo
gbobboboooobobooooooboobbuobbuoooobboooobboboo
gobooboomoboooonom

gobbogooboboooboboboooobbboooobobboooobbooono



14

010

g

013 00OOooooooooooooo



1.2 00000000000000000000

gobobooooobobbooooboboooobbboooon
ddodooooooouooooooooooobooboboboobobbbbobbbibb
ggbodooobobobobobobobobiobodooooooooboonoooon
gobobooooobuoooobooboooobbbooodbobboooobboooboo
0000000000000 00 [12,13)00000000000000OO

1.2 000000 DODOO0O0O0DO0OO0ODOoOOOO0n

0000 (dynamical system) 0000, 0000000000000000000
0 [14-17)0

0000000000, 0000000000000000000000000000
D000mO000000000

dz m
o~ @ (z € R™) (1.6)

goon

1.21 0OO0OO

t=0, x=2,00000000000000 (1.6)000 ¢t000000 a(t,x0) 0
000000000000000000 «t)0000
000000000000R™ 0000000 20000000000 (1.6)0000
00 ¢+00000000000000000000000 ¢t %) (= x(t,x) 0000
00000 (1.6)0000000 (Aow) 0000

122 000

fl®;)=000000 @, 0000 (fixed point) 0000, @, 000000000
0000 ()=, 0000,0000000000000000,000 ;0000
(equilibrium point) O 0 OO
123 OO0

00,20 € R 0000

O(xg) ={x e R" | z=x(t,xy), —00 <t < o0} (1.7)

00000 O(xy) 0000 g 000O0O0OODOOO



16

g1gd 00

000 x€0000 ¢t0000000 T(#£0)00000
o(t,x)=d(t+ T, x) (1.8)

0000000, 00 o000 TOOODDODOODODODOOOODOOoOoOoOoOoooooo
0000000 (periodic orbit) 000000 (periodic solution) 0000

000,00000000000000000 (limitcycle)000O0O0D0OO0OOOO
ooooo,0o000 O,0000 e000000 O, 0000000000G000O0O
goobbodn egbbbooooooo

124 0O0O0O0OO

gogoooog,bbbobbbbbbobooooo,obboobbbbbobbbbbb
00000,000000000000000000 (attractor) 0000000000
0,000000 (00000), 0000000 (DODOD0OOoO0O00),oo00o0Uooan,
ggooboboboobobobooooooooboo,oobobbbobbbobobdooooooo
go,0bboogbbbboooobboooobobod

125 OO0

O000chaosO O, 0000000 0O0O0O deterministic dynamical system O 0 O O
oo oobooooon
OO0 00000000Odeterministic chaost D 000000000000 O0OOOOOOO
0000000000000000000,0000 (15 00000000000000
gooooooooooboboboon

00000 (Wiggins) 0000000 (1.6)0 C" (r>1)000000000000
0000000 ADQOOODOADOOOOODOOOODOOO

1. 0000000 ¢(t,z) 0 ADODOOODOOODOOOOOOODOOOO
2. ¢(t,z) 0 ADODODOOUOOOOOOO

000000000 [17)0
00000000000 ¢« 0 ADODODOOOOOOOOOOOOOOOOO000
e00000000 e ADDDO0 000 UODO0O0D0O0O00yeUO¢t>0000
00 |¢p(t,z)—¢(t,y) > 00000000000000000000000OOOO
000000000000000000000000000000000000000
000¢(t,2) 0 ADDODODOOOOOOOOOOOOOD 200000 U,VeAD



1.2 00000000000000000000

17

00000 ¢t00000 ¢, U)NVA0D000000D0O0O0O0DODODOODOOADDOO
0000000000000 0000 AD0DO0DO0OODDDOOODOOOOOOO0OOO

OO0200000000000000DO0O0O00DOOO0ODObOODOoOOoOobOOobDO
goboboooobobbodoooobbboooobbboooobbbobooooboboo
gbobobooooobuooobboboooobbboooobobboooobbooonbn
gbobobooooobobuoodgboooboooobboooon

gooobooooboobuooobbobooobobbboooobobuoooobbbooooo
gobobooooooobooooooo

e OO OODLODUOOODLDOO

e I UUODLDDLDOOUOLODLDDLObOUOUODLDDUOO

e O IUUODDLDOUOUDDLDbOUOUDDLDDUOUDLDO
e 0O UOOOODO

00000000000 hmo0oo0uooUo 126000000000000
OO0 1280000000
gobboooobobuooobbbooobbobbooobobobuoooobbooonn
gobooboooooobooooboobboooobbboodobboooobbbooooo
goboboooobobuoooobooboooon

126 OOOO

000000, 00000000000 (OU0OU0L0)pOO0O0OOODOOOO,00
Upu. gtooodooooododoooooooooooboo,bbbbobo
goooboo,jgoobbuoodobobboooobbodoobbboooooobn

goboboooobobobooooobobooon

00000000 (Doooooo)

00000000 (saddle-node bifurcation) 00,0000 (DO0OO0O0)0000O0O
(0OO000O0)0O0O0O0,0000000000000000DO0O0O00OO0OOOO0
0000000000 (fold bifurcation) 0000000

gogooboboobboboddoodo, oo bbobbbuoo0ooooooo
000000000000000000o00oooo00oUon (J)oboooooooo
oo

§ = wpw (1.9)
Mw = P,, — P,sind — Dw (1.10)



18

g1gd 00

0O14,0 1500000000000 P,0 P,=P,00000,000000000
gooo

goooo

00000 (Hopf bifurcation) 00, 0000000000000 0O0O0OOOOOO
ggbobooobbooddouoooooobobbobobooooobo,ooooooobon
gogboboooboooooobbooobboobboobb,bbooboboobo
goboboboooobobobdooobbooooobboooobobboooobLbboooo
ggogoobobobobobobbbobbboodoooooooo,oooobobo
0000 (Van der Pol’s equation) 0000 0O

F—e(l—a2?)i+2=0 (1.11)

00000 e0 e=000000,(000000000)00000O0OO0ODOOOOE
000000000 e=000000 160000000 DOODOODOODOODO
oo

goood

000dooooooon 2000000000000 000000O0O0O0O0O0O0OOO
O period doubling bifurcationd0 0 00 00O 0O OO0 flip bifurcation0 O O OO OO0 OO
00,20,40,80,160,...00000000000000,0000000000
gogooon

goooooooooon

017000 500000000000 AVRO Automatic Voltage Regulator; O O
O000000000 GyoOOoOoooooooooooooooooooooooon
O0000000000000o0o0o0DmGyDooooooooos1000000o
0 1.7(a)-(f) 0000000000 00000 DO0O0OOOO0OD 600D0DDOOOOO
dd wdoooooooobbbboooooooooo

000000 00000000 w=00000000000000 wO0OOOOO
O0000000600000D00D0000 p00D00wO 000ODOODOODO
0000000 1.700000000000%0 0000000 0OO0ODOO 1.8000
O00000GyOOODOOoOOpOO000D000000000D0O0OO00O0O00O0ODO 1.80
000 (a), (b), .., ()00 1.7000 (a)-(H)0000000MMO 1.8000 50 99
00000 53(d) 0000000000000 0M0OUO0OO0OO0OOOOUOOOOO
goodoooooooboooooooooooooooobo oo ooooooo



1.2 00000000000000000000

rrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrr Py > P,
rrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrr Py =P,

P, sind

0 0.5 1 1.5 2 2.5 3
Generator angle 6 (rad)

014 0O0ODOOOOOOOO

0.015
=]
2 0.01
R
£ 0005
= =
28 0
o
@ 3
5 -0.005
=
3 -0.01
o]
-0.015 "

0 05 1 1.5 2 2.5 3

Generator angle § (rad)

(a) P, =0.8P,

0.015 F
o
32 0.01 F
=
£ 0005 [
= =
A 0F
2 3
5 -0.005 F
"
3 0.01
o~

-0.015 £,

Generator angle § (rad)

(b) P, = 1.2P,

015 O00000OO0OOOODOoOoboOoboboOo

(wp =120 rad/s, M =10.59s, D=3, P, =1p.u)



20 g1gd 00

1 1 1 1 1 - 1 1 1 1 1 1 1 ]
-2 -1 0 1 2 0 20 40 60 80 100 120 140

x t

1 1 1 1 1 1 1 1 1 1 1 1
-2 -1 0 1 2 0 20 40 60 80 100 120 140

x t

(b) e = —0.1

016 O00O0OODOOODOOOOODO

00000000000000000 (Poincaréd) 00000000000000000O
000000000000000000000000000000000000

0 1.7(a)-(f) 0000 1.8000000000000000000000000000
000() 000000000000 00000000000 40000000000 (a)
00 (b) 000000000000 ()0000000000000000000(b) 0
0 (¢)00000000000000000000(c)002000060000200
000000000000000 (d)0040000000(D),(c),(d)0000000
0000000000000000000000000000000000000000
0000000000O0(),(f)0000000000000000



1.2 00000000000000000000

21

120 0.006
= —~
& oL 12,
F o]
(a) Gy= 90 Seof 1 A
‘ ‘ ‘ ‘ 3
b 5 10 15 20 25 30 35 40 0006
100
Time ¢ (s) d(deg)
0.006

(deg
8 8
w(p.u.)

(b) Gy = 110
b 5 10 15 2 % 20 g 40 0006
45 100
Time ¢ (s) d(deg)
120 0.006
2 o 1 =
() Gy=150 = o} & 1
‘ ‘ ‘ ‘ ‘ 3
b 5 10 15 20 25 30 35 40 0.006
5 100
Time ¢ (s) d(deg)
120 0.006
P 0, £l
(d) Gy=192 T el 18 0 1
‘ ‘ ‘ ‘ 3
b 5 10 15 20 25 30 35 4 0008
5 100
Time ¢ (s)
120
2wl
_ = A i
() Gy=200 = 0
0 ‘ ‘ ‘
0 5 10 15 20 25 30 35 40
Time ¢t (s)
120
"0 %0
_ - A
(M Gv=210 T
0 ‘ ‘ ‘ ‘
0 5 10 15 20 25 30 35
Time ¢ (s)

017 AVROOOGyOOOOO SOOOO0OOOODOOODOOOO

06 0J0000O0OD0w: DODDOODODODO

(@ (&) (1)
! |l |||

i

140 160 180 200
AVR gain Gy

018 0O00O0O0O(a),b),.. ()00 1.7000000000

100 . . ,
|

i

p (deg)

65
220

Odép: DOODODODDOODOODODOOOOOOO



22 g1gd 00

127 0OO0OODOOOO

0000000 (reewrnmap) 0000000000000 O000O0OOOOO pq, pe,
L.ogbobodbop;, 00bd pip obgoooboobodaog

OoOOo0O0 1300b0b00ooboobobooobobb0 z=0000000D0O
I 2 A A A A I R T o SO o > PR
Oy00000 v1,92,...000000 1900000000 1900000000y,
(t=0,1,2,..)0000 v, 00O0OD0OOOOO 11000000000 DOOODOOO
gobbboooobobbogobbboooobobuooon

25

25

2 L

15t ' N

Yi+1

l L

051

0 10 20 30 40 50 60 0

0O 05 1 15 2 25
Yi

019 O00OOoOoooooooooooo
0110 oDOoDoOoooog

gogobbooooboobooooobbuoooobbbooobobbooobbboooo
gooboboooobobobodooobbbooooobboodobobboooobbboooo

128 O0O0O0OOOO

0000000 (Lyapunov exponent) D00 0000000000000 DOOOOO
gboobooooboboogoobo
000 (l.6)0D0000oooooooo

A={p(t) e R"| — o0 <t < o0} (1.12)

0000000 ) 000000 AODOOOOOOODDOO (1)0D00oOoooooo
O00,00000 AODQOOODOO AOODDOOODOOOO

1
A= tlim sup log ly®)] (1.13)

00 y(0)|



1.2 00000000000000000000 23

000 |-|0 00000000000000000000000y(t) 000 () 000

00 (1.6)000000
y(t) = Df(e(t)y(t) (1.14)

0000000000000 0000 ANOOO ) 0000000000 y(t)ooOO
Oobooooboobooo0mo 1110

0111 oOOoOoooog

gobbooooobobuoooobooboooon

e J00000D0000000D (1140000000 »0)0000,00 mO
(0DDDD00)0000000000

e 0000000000000000000000 (¢)000000000000

e012000000,00000000,0000000000000000000
0,0000000000000,00000000 (A,....\) 0000000
oooooo

012 000D00D00O0D0O0O0O0ODO0O0OO (D0DODO0D0DOOm=4000)

00000000 |00000000000 (Doo)

0oo (=== —)
0ooooooo 0, — —,—)
00o0ooooon (0, 0, —, —)
0oo (4,0, =, —)
0oooooon (+,+,0, —)




24

g1gd 00

1.3 00oooon

doddooodoooooooobooooooooooooooooa

O00o000oU0oU0oU0oU0o0oUOo0oO p|ooooOobDO0obDO0obDOooooooo
O00000000SVCO Static Var Compensator; 00 0000000000000 O0O
0o000000o0o0o0oo0o0ooDo0ooUoUOoon [Leoooooooooo
O000000000000000000D0O0 AVQCO Automatic Voltage and Reactive
Power(Q) Controller0 000 0000000000000 DOODO0O0OO0OODOOOO
oo oooouooooooooooooooonouooog
000000000000 00000000 [W8Uooooooooooooooooo
O00000000000000000000D000O000O0AVRO Automatic Voltage
Regulator; 0000000 OO PSSO Power System Stabilizer; 0000000000
doddoooooboooooooooooooooooobooooooooooonog
OO0 PSSOO0OO0OOOOOOOOOOOO [19)0

goddoodoouoooooooooooooonoooooooooooo
00000oooo1927r00000000000000000000000000000
00 [20,21)J000000000000000O0O0DOOOOO0OO [22,23|[000000
000000000000000000000 [24)00000

00 [25|000000000000000000O00O0DODOO0UO0O0OOOO0ODOO
oodooddooooodbobooboboooboooboboooDoooDo onobobooo
002000000000 00000000000000DO0ODODO00000O0OODOOAO
oo ooooooooonoooouoog
dooooboooboooooboooouooboooooooboooooooboouooa
0 [26-29] 0000

oo ooooooooooooooo
doddooooobooooooooooooooooooboooooooooonoa
doddooooobooooooooooooooooooboooooooooonoa
0 30j000000000000000000000 PaekOO0OODOODO AVRODO
000000000000000000D00000 (3L,320000000000000
doddooooobooooooooooooooooooboooooooooonoa
000000000000000000000000O000OOOD [31,32/0000000
O000000000000D000 AVROODOODODOODOODAVROODOODOOODO
AVROOD0OOD0OODOOOOO0OO0OO0O0OO0ooOooooooooo [33]0

doddobodoooooboooobooobooooboooboooobooooooonoo



1.3 000000

25

ggoobobodouobboboooouobbobooobobbbooobobbooooboobo
000 [34-39J00000000000000000O00D0O0O000UDOO0O0O0OOOO
gobboboooobboobboooobobbooonoobbooonooboooobon
goooboobooooooboboooboooobobbooooobobbooooboboooono
0000000 [3|000000000000000000000O0DO00O0DO00O0
00000000000000000000000O000O00 (3900000 ooo0
ggooogoobooooobobobooooobbbbooboooobbboooobobo
00000000000 4000000000000 o0o0ooOoooooUooOon
gbobobogobbobooobobooboooobbbooooboboboooobbooono
ool ooouuoouoooooboboboboboobooobo
gobooboooobobobuooooboboooobobboooobbboooobobbooobo
goboboooooboouoobobboobooobbboooobobooooon
gboboboogoobobuooobbbuooobood
goooboooobobuooobbobooobobobboooobobuoooobbbooooo
gobbboogoobboboooobobboooobobobbooooobobobbooonon
gbobobogoobboooboboobooobobobboooobobuooonbobn
goooboooobobuooobbobooobobboooobobuoooobbbooooo
goobooooobuooooboobooooobbotbodobboooobbooooo
gboboboogoobobuooobobooboooobbbooooboboboooobbooono
goobooooobuooooboobooooobbotbodobboooobbooooo
gooboooogobobobbboooobobooouobobboooooboboo
gobbogoobobuooobbbooobbbbooobobobuoooobbooonn
ggddddododoooooooouoouuoooouoooooobbobobbobo
goobooooobuooooboobooooobbotbodobboooobbooooo
gboboboogoobobuooobobooboooobbbooooboboboooobbooono
000000000000000D0O0000000DDOO AVROODODDODOODOOOOO
gobobooooobuoooobooboboooobbotoodbobboooobbooooo
gobobooooobuoooobooboboooobbotoodbobboooobbooooo
gbobobooggobobooobobooboooobbboooobobboooobbooono
gobobooooobobuooon
gobboooooboboooobbobouooonoo
gobbogoobobuooobbbooobbbbooobobobuoooobbooonn
OOob0ooboooobobobooboobooboobo 200000 30000bDO00O
O2000000000000O0000DbDOCOO0ObDObOOObDOO0bOobOoODbDOb
gobboogoobobooobboboooobbboooobobboooobbooonn



26

g1gd 00

00000000ooooo A/D,D/A0D0COOOOOOOOOOOOOOOOOOO
gogobboboooooobbooooobooooboobooobobbooooobbon
gobbboogboboboooobbobboooboboboobuoooobobboooon
gooboooooo

03000030000000000000000 PSSOOOOOOODOOOOOD
0030000000000000000 PSSOOD0ODO PSSOOOOOOOOOODOO
0000 PpPSSO0D00OO0O0OO0OOOOOODOODOOODOOOODOOOOOODOOD
ooobooobooboboooboboboo 200bob0bboboboobOobooobooo
gobbboooobobbdooobbooooobobuooobbboooobbbuooon
goooo

040000000000000DOO00ODO0ODOODOOODOODOODOODODOODO
gbobooboouogobobboooobbbooon

0 40000AVROPSSOGOVO Governor; D 00000000000 ODOOODODO
goobbooooobobdooobobooooooboboooobobboooobbbooon
gobbboooobobbooobboooobobobuooobbboooobbbuooon
gobbbooobbobboooobbobbooobobboooobobbooboooon
goobobooooboboooobobboooobbooouoouLDbLbbooooo
0000000000000 000O000oO0oooooooooPpSSOOO,0ooo
O000,00000000000000CC0O000000DODOODOOPSSOOOODO
goobtboooooboboboooooboboooobbbooooboobbbbooooo
ggoooboboooooobbbbdooobobbbbooooouobbboooooboobo
gobbbooobobobboooobbbooooboobbboooobobboooon
gboboobooobbbodooobbboooooboboooo

Os500000400000000000D00DDOO0ODOODOODOODODOODOO
oooobooboboobooboboboobobo3dbobogoboboooboboooooboooo
000000000 AVROOOOOODDOOOOOO0O0DO0ODODODOODOO0O0O00OOoOoOn
O0000000000000000000000000D00O0000000O000 AVR
O000000000000000000000000000000000AVROOOO
gobbboooobobbooobbooooobobooobbboooobbbuooon
AVROODOOOOODOOO0OOOOO0O0ODODOO000000000000O00000000
gobobboooobobbooobobbooooobobuooooboobo

Oe600000SO0000DO0OO0DOODOOODOODOOOODODOODOOODOODOO
g, jggoooobbbobobbdoooooooobbboboboouooooooDn
goobbooooobobooobbooooobboodbobbboooobLbboooo
gbobbboooobobbooobbboooobobobuooobbboooobbbuooon



1.3 000000

27

gobobooooobuoooobooboooobbbooodbobboooobboooboo
gobbogooobobooobobooboooobbbooodbobboooobbooonn
gobbobooooboboboooobboboooobooobbbooonoboboogobo
O000000000000000000000000 AVROOOODODOOOOOoOoOoo
O00O0AVROOOOOOOODODOOOO0ODOOOOO0DODODODOOODODODODOOO
gboboboogooobuoobobooobbboooonobuoooobobn
O7000000000000DO0ODOODOODOOODOODOb






0100000000

1) 000“000000000000000DO0D00O0O”, 0000000 B, 118-B,
pp. 2-5 (1998).

2l 00000000000 000O00O0O00O00O00D0DmM“c0000ooooOo
00O0007,43.10,00000000, No.801, 0000 (2000).

3] 00,000“00000000000000OOO0OOO”, 0000000 B,119-B,
pp. 516-523 (1999).

[4) O0O,0,00,00,00“00000000000000000000OOOOO
07, 0000000 B, 120-B, pp. 325-332 (2000).

b 00,00,00,000¢“00000000000O00ODO0O0OOODOOOOOOO
00”, 0000000 B, 121-B, 6, pp. 708714 (2001).

[6) 0000000000000 0000DOD0mM“O0D00000000O0oOo0O”, o
0000000, No. 424, 0000 (1992).

7 00,00,000000“C000000O0O000OO0”, 0000 (1989).

8l 0000000000000 0OUO0OUDO0O0O0D0DmM“000000O0oDoOooooO”,
00000000, No. 625, 0000 (1997).

9] 00,000“C00000000 —-dufing0 000000000 0OOODOOOOO
00 -7, 00000, 20, 8, pp. 741-747 (1981).

(10 000“00000000000000007, 0000000, 28,8, pp. 502-512
(1984).

[11] J. M. T. Thompson, H. B. Stewart, 00 00O, 0000“0000000007, pp.
230240, 0000 (1988).

[12] OO0, 000“000000000000O0OO”, 000000 B, 114-B, pp.
125-129 (1994).

[13) 00,00000¢“0000000007, 0000 (1995).

[14] J. M. T. Thompson and H. B. Stewart: “A tutorial glossary of geometrical
dynamics”, Int. J. Bifurcation & Chaos, 3, 2, pp. 223-239 (1993).

29



30

01000000000

[15) DODO0OM“000 -0000000D0000”, 000000 (1990).

[16) 000“000000000000007, 000 (1995).

[17] S.000000“00000000000O”, 0000000000000 00O0 (2000).

[18] S. Hayashi, K. Hirayama, T. Sogabe, T. Toyozumi, T. Minakawa and Y. Ichikawa:
“Fuzzy expert system for main transformer’s tap changer to control voltage and
reactive power”, 0000000 B, 115-B, pp. 1337-1342 (1995).

[19] OO0,000“0000000000000O0DO0O00DO0O0-0D000D0O0OOOO
00000oo0o-", 000000000, T94008 (1995).

200 000“000000000000000000007, 00000, 50, pp. 880-887
(1930).

[21] DOO“0D00000O00O00O000OOD0OO0OO0OOO”, 00000, 51, pp. 759-771
(1931).

[22] DOO0“0000000000O0O00OD00O0OOUO0OO”, 0000000 B, 110-B,
pp. 97-101 (1990).

[23] P. Varaiya, F. F. Wu and R.-L. Chen: “Direct methods for transient stability
analysis of power systems: Recent results”, Proc. IEEE, 73, 12, pp. 1703-1715
(1985).

24 DOD“0O0000000000O0”, 0000000 B, 112, pp. 657-663 (1992).

[25] N. Koppel and R. B. Washburn, Jr.: “Chaotic motions in the two-degree-of-
freedom swing equations”, IEEE Trans. Circ. Syst., CAS-29, 11, pp. 738-746
(1982).

[26) OO, 000“00000000000000O”, 000000000000, No.
NLP89-11 (1989).

[27] OO,00,HB.Stewart0 “00000000000000O00OOOOO”, 0000
00000000, NLP91-43, pp. 45-52 (1991).

[28] Y. Ueda, T. Enomoto and H. B. Stewart: “Applied Chaos”, chapter 8, pp. 207—
218 (1992).

[29] Y. Hasegawa and Y. Ueda: “On trapped motions and separatrix structures of a
two degree of freedom swing equation system”, IEICE Transactions on Funda-
mentals of Electronics, Communications and Computer Sciences, E82-A 9, pp.
1692-1700 (1999).

[30] H. O. Wang, E. H. Abed and A. M. A. Hamdan: “Bifurcations, chaos, and crises
in voltage collapse of a model power system”, IEEE Trans. Circ. Syst., CAS-41,
3, pp. 294-301 (1994).

[31] OO,000¢“00000000O0O00O00O0O0OO0ODOOODOOO”, 000000



31

000000, No. NLP96-174 (1997).

[32] H. Ohta and Y. Ueda: “Unstable limit cycles in an electric power system and
basin boundary of voltage collapse”, Chaos, Solitons & Fractals, 12, 1, pp. 159—
172 (2001).

[33] W. Ji and V. Venkatasubramanian: “Hard-limit induced chaos in a fundamental

power system model”, Electrical Power & Energy Systems, 18, 5, pp. 279-295

(1996).

3 000D0“00 : 0000000000 0D0O00O00”, 0000000 B, 115,
(1995).

[35) 00, 000“00000000000007, 0000000 B, 116, pp. 14-19
(1996).

[36) 00,00,0000“0000000000000000000000000000
00000000007, 0000000 B, 118, pp. 52-62 (1998).

(371 00,00,000“10000000000000000000000000000
0000”7, 0000000 B, 118, pp. 892-898 (1998).

(38 000000000007, 0000 (1994).

[39] 00D “MATLABOOO0O0000000000007, 000000000 (1996).

[40) 00D0“0000000000000007, 0000 (1992).






120

Jooobobooooboboddddd
HRERE

21 0O0ODOO

gobbogoobobuooobbbooobbbbooobobobuoooobbooonn
gobobodoogoobuooooboobboooobbbooodbobboooobbboooLoo
O000PSSO0000O0OOOOOOOO0OAVROODODOOOO0OO0O0O0O0O0O0O0OO0OO0O0OO
0000000000000 0ooOo00oooooGOvVOooooooooooooooo
gbobbogoobboooon

00000000 000D0OoO AVROPSSOGOVOOOOOOOOOOOOOOO
gobbboooooobbboooobbbooonobobbooonoobobuoooobo
gobboogooboboooboboboooobbbooodbobboooobbooonon
goooboooboboooobobboooobbboooobbboooooobboooooo
goboboooooobuoooobooboboooobbbotoodbobboooobbooooo
000000 1000000000000 oU0o0oO0oO00oUoO0DOUODOOUOOO
O PSS (11,12 0000000000000 000O0O00O0O0OODO0O0OODOOOOO0
gobooboooooboobboooobobboooobobboooobboboooono
00000000000000000 [13-16)0

0000000000000000000000O0D [16,17)00000000O0O0O0
000000000000 0000U0U0o0o000oUooooUoooo A/D,D/AD
gobbooggoboboooboboboooobboooobobboooobbooonbn
gooo

gooboboooooboooobbboooobobbbooooobboobobbooon
Oooobooobooboo 2030boboobobooboboobobooboooobo

33



34

020 0000000000O0O0O00000000

gooboboooobobobdoooboboboooooboboodobobboooobbboooo
gobbbooobobbooobbbooooobobooobbboooobbbuooon
gobobooooboboogon

22 000OO0O0OO0O0ODO0O0ODODODODODDOOOOO

gogobbooobooboooobboooobbboooobobboooobbbuoooo
gobbboooobobbdooobbooooobobuooobbboooobbbuooon
goooogd

221 O00000O0OO0OODODOOOOOOO

0000000000A/DOOOOOODOO0OOOOOOOOOOOODOOOO
gobbbooobobbdooobbooooobobuooobbboooobbbuooon
OO0bO0o0obO0o0oooobOobooobOooooOooboboOoboo DyI,RODOODODODO
goooo

D : 000 (Differentiator)
I : 000 (Integrator)
R : 00O0OO0O0O0OO (Reset filter)

gobbobuooooobobooooboo

D e — 2.1
15 5Ty (2.1)
1

I . - 2.2
: 22)

STR

R _ 2.3

1+ TR ( )

O0ooooo Tp, Tr O000DOODOOODODOODOODOODOOOOOODOO
OO00o0O0oO0o0C0OO0bOOo0oOoObogbOo pOoOOOoUODOODOUODOODOODOOD
OO0O000000O0DbO0O00DO00DO0 ROUOUDUODOOODOODODOOOODODO
oo

gogoboooboooobbooobboodobbuoobbobobuoodn soggo
b z00b0obooooboboboobbbooobobuodbooboobobobbuooon
googoobibobiob sbOoooo0 z00000000000000000000

000
21—zt

S ATIG T (2.4)

S



22 DO0O0OO0O0OOOOOOOOOO0O0O

O0000ATOO0O000000000000000000000 H(s)obooooooo
000000000 H(:Y)oooooooooo

H(z"") = H(s)| _ » 1. (2.5)

SEAT 14,1

O00000000000000000000000000 ATO0DO00ooooooooon
gbobboogobobooobbooon
goo

1 1
L S (I (2.6)
1+sTp Tp 1+sTp

STR 1

—_ =1 — 2.7
1+STR 1+STR ( )

gobbogooobobooobobooboooobbbooodbobboooobbooonn
gobobdboboobooobbogobbooobbobboooobboooboobboobo
goboboooobobuoooboboooboboboooobobboooobnoboo

222 UO00O0OOO0OOOOOOOOOOO

oobo0oob0ooboooboobooobuoobooo 21000000 bO
0000000000000 0000D00D000 2.1000 Voltage Control Loop O
Damping Control Loop0 0000000000 Vi(puw)OODOODOP.(pu.) ODOODO
000000 2.1000 Speed Control Loop0 D0 DDOOOOOO w, (rad/s) OO0
oobooooooooooooboobooob v, 0boobooboobooboobooboo
000000 U, 0000000000000000000A0

00000 A/DOOOOUOOOOOOOOOOUOOOOOUOOOOOOOO 210
00000000000 0000000000O00U00O0 b/ADO0O0DO0OOOUOOO
gobboogoobobooobboboooobbbooooboboboooobbooonn
OoO000OO0O0O0bOOO000oDOoO00oDkCOOODOOODOOOO

OO0OobO0o0o 210000b0b0bO0ob0ooboob

Ol0o0oooooooogoooon

00000000 2100000000000 (Voltage Control Loop) DO OO OO
0000 (Damping Control Loop) 00000000000 ODO0OO0OOOOOOOOO
obobooboobobooboobobooboobobbobboobooboobo
oooboooooboobooboobooboboooboooboobooboobooo
0000000000000 00000OCO0U0O0DooooD AvVROOOOOOO PSS



020 0000000000O0O0O00000000

Exciter
Vlts
External Vilk +
System A/L# Voltage Control Loop Uy (k) .
%) Ue (k)
| _Pe (k) +

| ( Damping Control Loop

wr (k)

Speed Control Loop U g (ki)

Turbine
System

{><} Servo
System  |e— Pms

Steam Valve

HP

021 000O0ODOO0OODOOODOOOODO

O0000000000 AVROODOODODDOODOODOODOODOOoOOoDOooooD U, O
oo 2000000000000 ooooo

oo oooooobooooooooo
00000 (Fuzzy Logic Excitation System; FLEX) 000 O

() D0D000O00O0O0O0oOoooO AVRO

00000000000 AVROOODOOOODODOOODOOO0OOOOoDODoOoooooon
0000000ooooDoooooooooo 220000000000 000000O0OO
0000000000000 000ooooooooog Vik) (puw) OODOODOOOO
Vie (pu.) 0000000000000 e(k)00000000 g,(k)00000000
000000000 2230000000000000000 Uk 0D000OO0ODOOO
00O PIO Proportional and Integration; 00 0000000000000 0ODOOOO0O
0U,(k)0DOOO

ea(k)

Uvmax
Fuzzy Logic / Uj(k) +
O—Us(k)

Vi(k) ‘(ﬁ@ Control
* e(k) | Rules
Vis

022 00000OO0OO0OOOOOOO

—Uymasz _>KI — 7




22 DO0O0OO0O0OOOOOOOOOO0O0O 37

(b)) 00000ODDDDDD0ODD0O0DO0O PSS; FLPSSO

000000000000 (PSS)00000000000000000000000
000 23000000000000000000000000 PSSO00000000
00000000000 P, (puw) 00000000 2300000000000000
0000000000000000000 P(k)000000000000 Z, (k000
00000 Z(k)000000000000000 Ry, R, 0000000000000
0000000000000000 000000000 P.(k)00 Z,(k)OZ(k)OOO
000000000 BOOOOOOOOOOOOOOO0000022300000000
000000000000000000 Uu(k) 0000000000000000000
000000 AVROOOOOOOOOO0O0O000000000000 23000000
0000000000000000000000 PSS [11,12]0000

Za (k) U
dmax
Fuzzy Logic /
Control Uq(k)
Zs (k) Rules /
—Pe(k) — R1 I — Rz U,

023 0000DOOOOOOOoOoDDbOO

O20000000000000

00000000000000000000000 2100000000 (Speed
Control Loop) 000 0I0O0O0OO0O0OUOOOOOD 24000000000000000000
000000000000 0000000000000 w(k)DOOOODOUDDOOODO
00000 ROUDODODDDOOO0OUDOODDOOD Awk)DDODDOODOODOODOODO
0 DO00O0O0D0O0000O Awe,(k)DDDOD0OODO0O0OOO0OODOOOOO 2230
000000000000000000000 Uy(k)oooo

s Awg (k) Ugmaz
Fuzzy Logic
wr(k)— R Control Uy(k)
Aw(k) Rules
_Ugmaz

024 000O0O0OODOOOOCOOO



020 0000000000O0O0O00000000

223 O000O0OO0OOO

oo ooboooooooooooooooooooooooon
0 Fuzzy Logic Control RulesU OO0 000000000 OOODOODOOOOO

(1)00O000

0000000000000 k00000000000 2500000000000
000000000000000000000000000000 X(k)OY(k)O00OOO
000000000000000 pk)000000000

p(k) = [X(k), AsY (k)] (2.8)
0000A,0000000000000000000000000000000000

0000000000000000000000000000000000000000
00000000000000X(k)OY (k)OO

X(k)=Z(k), Y(k)=Z,(k) 00000000000 (2.9)
X(k)=¢e(k), Y(k)=¢.(k) D0OOOOOOO (2.10)
X(k)=Aw(k), Y(k)=Aw,(k) 000000000 (2.11)

oooo

0000000000000 O0000000000000000000000000
000000000000000000000000000000000000 000
0000000000000000000000000000000000000000
0000 25000000000 D(k), #(k)00

D(k) = /X (k)2 + (A, Y (k)2 (2.12)
Q(k)::tan_lfgiaggﬁl (2.13)

goobog

(2000000000

00000000000000000000000 (29)00000X(k)00000
000 Z(k)DDOO0OY(k)0OOOO0OO0 Z,(k)00000000000000000
0000000000000000000000000000000000000000
0000000000000000000000000000



22 ODO0OD0O0O0OO0O0OOOOOOO0O00O0

39

A - Y (k)

switching line

X (k)
p(k) : D0O0OOOO
o . 00 ADOOBOOOOOOOODO
9(k) : D0O0D0DO0p(k)00000D00000
D(k) : 000000 pk)000 00000
D, . D(k)D0D0OODOD0OOOOOD

025 00000020000

O250000000000000D000DOO00OO0DOODOODOODOODOO 1O
020040000000 AOsector ADDODODODOD0O0OOO0OOODDODODOOODOO 20
030040000000 BOsector BOUOOOOOOOOOOOOOD 2500000
000000 p(k) 0 AID0A20A30B10B20B30000000000O0O0OO0O0OO0O
goooboog

000 p(k)0 A1DDO0O0D00X(k)000000000000000000Y(k)
0000000000000000000000000000000000000
0000000000

000 p(k)0 A2000000X(k),Y(k)0OOOOOOO0O0O00000000
0000000000000000000000000000000

000 p(k)0 A3000000Y(A)00000ODD0D0D000000 X(k) OO
000000000000000000000000000

000 p(k)O B1OB20B3 0000000000 Al, A2, A300000000
0000000000000000000000

O0ddddodoooououobboooooooouoobobboboboboobD 2500 20



020 0000000000O0O0O00000000

a = 90 deg

N () P(6)

grade

0 ) 135 180 270 315 360
0 (deg)

026 000600000000 0OODOOOOOODOOOOO

G(D)

grade

D distance D(k)

027 000D00000O0O0DOOOO G(D)

040000000000 0OswitchinglineDOOODODOOOOO0OOO 20000000
ooooboboobobobobobobboOo 2600000000000 DODODDDOOO0OUODOO
00000 AQO0OOOOU0OOOODO NAk)OODODODODODD BOOOooOooOoO
00000 PA(k)DOODODOOOODOOOOD 26000 AODODD BOOOOOOO
OO0 o 90deg0 0000000000000 AOOOOOOOOOOOODODODODODO
Oooo1o00og

PO(k)) + N(0(k)) = 1 (2.14)

000000000000000O0O00U0D p(k)DD0ODO Dk)ODDODOUOOOO
0000000000 G(D(k))0O0D 2700000000000 2700000000
goobooooon

PO ow<by
G(D(k)) = , (2.15)
1.0 (D(k) > D,)

0000D(k) 000 000000 p(k)00000 |p(k)|0000D, 000000
D(k)0D0D0D000000000000000G(D(k)000000000000000



23 DO00O00O0ODOOO0OOODOOOOO0O0O 41

doboboooooobuoooooboooo

(300000000

0000000000000000 p(k)0000 ¢(k)00000000000000
N(9(k))0DD0D000D000000000 P@O(k)00000000000000O00
00000000000 G(D(k)000000000 U(k)000000000000
0000000000000

Uk) = %Eg; . igggg; G(D(K)) U (2.16)
— 2N(O(k)) — 1) G(D(R)) Upnas (2.17)

I[2N(0(k))—1]G(D(k))|<1000000Un., D0 UKk 0000000000 O0O00O0
0002300024000000000000000000000000000000
0 0 00 Fuzzy Logic Control RulesDO0 000000000000 Ug(k), Ui(k), Uy(k)
ooooooo

000000000000000000000000000 30000000000
0000000 A,20000000000 N(@(k)DO PA(k)0DD000000 O
00000000000000000000 D, 000000000000000000
0000000000000000000000000000000000000000
0000000000 (218) 00000000 Unit000O0000000O

Jp =Y (w(k)-k-AT)? (2.18)
k

gobbbooobbobuooooobboooobooobobbooooboobooon
goooooon

23 OUO00OO0OooOoOoooooooooooon
231 000OO0OOODOOOOOO

0000000000000 0000000000000D0000000 (Analog
Simulator) [18) 0000000000 0OOOOOODOODO ASOOOO

ASO0DDDOO00OD0OO000ODOOO00DOO00OOO00O0OOOOASODODOOO 280
O00ASO000000O0ODODOOOOOOOOO0O0O

e IO DLODDUOULODLDOUOULODLODULUULDDDOOOUOLDDLDOUOO



42 020 0000000000O0O0O00000000

028 00000000O0O0O0ASOOOO

ggbbbooogbbboooobbbuooobbboooobbboooobobooboo
ugoboooooooooonoo

ggbobooogbooboooooooo
ggboboooobbboooobbbuooon
ugobbooooooboboooobobbooobbbooobbboooboboboo
ugn

ggbobboodggbbooobbobooobbuoooobbooonbn
ugobbooogooooooobooo
ugobbooobobobooouooobboooobbboooobobbooon

232 00O0O0O0OO0OO

obooboobooboobooooobono 290,0000000 2100000000
000000000000000000000000O0 CPUODODOODA/DOODO D/A
gogobobobooobbobooobbbooooooo

ASO0OO0O0O00O0O0O0O000O0U0OO0O0O0D0DU0DOO0OLO0O0DUDOOoOOOoOO A/DOO
0000000000000 00000000000DA/DO0ODOOOOODOOO 8
gooooboobboooboo POVOwDOODODOOODOODDODOODODO 300
ooo0oOoOo0ob0sS000b0000bO0bOO00oOD0bDOo0ooOOobOOOooOOobOoOonOKed
As0D,,0D,;,0A,,0000000000000O0CCOOOOO0O0000O00O0O0O0
gobobboooobobbooobboooooobuooobbn

gooooooobooobbooooouoboooobooobooobbobboooo



23 DO00O00O0ODOOO0OOODOOOOO0O0O

029 000ODOODOOO

ooooo  J
ASOO0000000000 !
! ADOOO
|
0o O ' O cm | P,
|
|
oooo O i O cH2 |
ooooo O cH3 | w

CH4 Kp

.|”—

O
O
PO cs | A,
O

I
I

I

I

I SZ;

I

: @

:DDDD 0ooo
| 0ooooo
| % CHE | Dy

I

: —g—»@ CH? | Dy

I —=

I pp—

I —fz;—

I

I

I

I

I

I

I

I

O cHs | Agg

gooooooao

AsOO0D0OO00000000O0

D/AO OO
Vavrz O O cH | U,
Vgov © O o2 | Ug
| & o o L L L L L e
oooooo

0210 DOoOoOooood



44

020 0000000000O0O0O00000000

\ A | ADOOOO -y

-+ ADOOOO0 -t

4 0000 e

4+ 0000 et

- D/AODOOO

V' 4 pbAoooo et

d -+ ADODDOO

0211 100000000O000DOO

0000000000 000000000
D/A000D0O000000002000000000000000000000000
D00000O0D/ADOOOOOOOO0OO000ASOO0O0O0O0O0O0O0O0O0OOOOOO
00000 U0000000 U, 00000000 VayreDVeoy 00 21400 2.16
ooO00o0O0ooood

0000000000 10000000000000000 211000000000
00000000000 2120000CPUDDOOOO CPUDOIntel 80486DX 0000
0000000000000 00000000000000 2110 ATy00 lmsO000
00000000000 00000000000000000000000000000
000 AT O loms000000

233 00000000 ODODOOOOon

O000O0OOO0O0OD0O0O0O0O00AVRO PSSOO00O0O000O0OOOOOOODODODO
goobbooooobobdooobobooooooboboodobobboooobbboooo
goobbooooobobdooobobooooooboboodobobboooobbboooo
OoobOoobOobobooooboobOoobo203p00ooboooboooooDbOooD
gooboboooobobooooobbobobboooobbbooobbbboooo



23 DO00O00O0ODOOO0OOODOOOOO0O0O

45

START

A/D,D/ADOOODOODOOO

oooooooooo

OooboooooADOO0

ooooa

ooooooo

00000000DA0OO

0212 J0O0O0OO0OO0OODOODoOooOO

gobbogooobobooobobooboooobbbooodbobboooobbooonn
goboobooooogooo

ooooboboobboobobooboboob 223000b000b0O0 30b0000OOb
0000000000000000D (o000 0O00DoO000O0D0DoOO0OOoooOOoO
OO00D00000DO0O0O00DO0O0O00DbO0O0O00D0O0O00ODOobOOODOOg Unit
O0000D00D00000D0O000D0O Unit20Unit30Unitd DO0OO00O0OOOODOO
004pul06pud06pu00000000UntlO0OO0OOCOOOODOOOODOO
OO00000D0OO000O000O00b000oDooD 2100 UntODODODOODOODODO
O0UnitlOUnitd 0000000000000 0 Unit20Unit3 0000000000
OO0O000O0O00D0OOC000OO00DOOC000OO00DOO00DOO00ODOO0OUnit40
gooog

234 0000000 ODODOOOOOOOOO

(1)oDoooo

02140 ASO0O0O0O0O0000000000 22000000 AVROOOOOOO
Unitl 00 Unit4 00000000000000000000000 214000000
00000000000000000000000 V,000000000000000



46

020 0000000000O0O0O00000000

Unitl Unit2 Unit3 Unit4

0.1p.u0 0.4 p.u. 0.6 p.u. 0.6 p.u.
=T lp.u. 1p.u. 095 = 0.9
p.u. p-u.

—T T T T oo

A I
~_ ~_ ~_ Infinite bus
A A y
0.3 p.u. 0.6 p.u. 0.6 p.u.

0213 000oOoooooooo

021 000oO0oOoooOobooooooooooboooooooooog

Unit No. | M(s) | Xa(pu.) | Xj(pw) | Xy(pw) | Xo(pw) | Tg,(s) | Ty0(s)
1 8.05 | 1.860 0.440 1.350 1.340 0.733 | 0.0873
2 7.00 | 1.490 0.252 0.822 0.821 1.500 | 0.1270
3 6.00 | 1.485 0.509 1.420 1.410 1.550 | 0.2675
4 8.05 | 1.860 0.440 1.350 1.340 0.733 | 0.0873

O 1000000000Unitl 0 UnitdDO00O000O0ODOO0O0OODOODOOODOODOODO
00000 V,0000Unit30 Unitd 000000000000 0OODOO0OOOOOO

10000

Unit4 0000000000000 O00000O00O0O00000O000 230000
000000000000 000000000000000000000000000
00000000000 AVROOOOOODOOOOOOOO0O0O0O0OO000000000
0 23000000000000000000000000000C0CO000000000
00000 U, 00 2140 Vavre 00OD0O0ODO

0 21500000000000000 PSSOCPSSOOO0OOOO0OOO PSSODO
0000000000000000000000000000000000000000
0000000000000 00000000000000000000000000
00000000 PSSOO00O0O00000O000 (2.18)00000000000000
000000000000000000000



23 O0O00OO0OO0O0O0OOOOOOO0O00O0

47
VAVR2 €fmax
.
_ Gvi Gva ,,é. 1+sTys Gvs e
Vis Vi = 1+sTyvy ™ 1+sTya |+ 1+s Ty, ™ 1+sTys | + f
.
er

s fmin ‘/t or 1

Vip

0214 ASOOODO

022 0000 AVROODODODOODOODODODOO0OOOOO0OOO

gooobooobooobooboo 2140000

Unit 1 & Unit 4: Gyi1= 1.0, Ty1= 0.013 s, Gyo= 10.0, Ty o= 0.013 s, Ty3= 3.0 s,

Tys=10.0 s, Gys= 6.48, Tys= 0.2, €fmaz= 7.6, €fmin= —5.2
Unit 2 & Unit 3:  Gyi= 1.0, Ty1= 0.01 s, Gyo= 19.2, Tyya= 0.013 s, Tyy3= 3.0 s,
Tya=0.2's, Gys= 1.0, Tys= 0.002 S, €fmaz= 5.1, €fmin= —5.71
0000 Unit3 000000 efmae= 5.2, €fmin= —5.20

023 0000OO0OO00OO0O0OOobooO0oboboobooooobo

ooooooooogoooob 2140000

Unit4: Gy1=0,Gyo=0,Ty3 =028, Tys =0.2s,
Gv5 = 6.48, Tv5 = 0.02 S, Gfmam = 7.6, efmm = —5.2

UmaCE
_ P — sTr .| _Gpss Lyl 14+sTso [,| 14+sTsa | -]
€ 1+sTgr 1+sTsq 1+sTgs3 1+sTss
7Umax

Tr=4s, Gpss=10 s, Ts1=0.025 s, T52=0.138 s,
T53=0.19 s, T54=0.136 s, T55=0.19 s, Upq.= 1.0

0 215 000 PSS

000 PSSOODOO00OO0O0O0OOOOOOOOOODD 2000000000000
000 UO0 2140 Vayre 0000000



48 020 0000000000O0O0O00000000

Vcov Pns  p,.+01 Ug Ugs
+ +
—W ™ m ’éo 1 o 1+STG2 0(5—» L - | l -
ra |+ 1+sTc 14+s5Tgs |+ + TGa s
: ; 0 Lai Lo
Messsssssssssssnssssannnnannnn Govafnor --------------------------------- .
O gmvdvemowam ---------------------------------
Ky
L S )
1 N 1 1
T+sTh 1+sTrn T+sTr sty [ KL P
L
Ki

Turbine System

0216 ASOOOOOOODOO

024 00000O0OO00DODODOO Unitd000000DOOCOOOOO

ooboooboooobooooo 2160000

rg= 4.0, Tg1=0.08 s, Tgo= 0.0 s, Tgz= 0.04 s, Tga= 0.1 s,
UGlz 0.2, LGlz —0.5, UG2: 1.2, LG2: 0, TH: 0.44 S,
Trp=10.0s, Tr= 0.08 s, T,= 0.58 s, K= 0.31, K;= 0.24, K= 0.45

(2)0000

0 2160 ASO0000000000000000O0000 (000)00000000
0000000000000 00000000000000000 Unit4 000000
0 2400000000000000 Unitd00000000000000000

0000000000000000000000000000000000 0000
Ore=0000000000000 Tee O Tes 0 1.0s000000000000000
000 240000000000000000000000000000CO00O0COC0O0
U,000 2160 Veoy OODODOODOO



24 00000O000O00OODOODOOOOOOO0O 49

025 00000O00OO0oOooOooboobooboon

ooboooboobooboon 2220,22300000

0000000 : Thy= 0.2's, Dpp= 0.1, Agy= 1.0, Kp= 0.1, K;= 0.3, Uppmas= 1.0
ogoooooogao - Drd: 0.05, Asd: 0.1, TR1: 3.0 S, TRQZ 0.5 S, Udmaw: 1.0
0000000 : Tps= 025, Dpe= 1257, Ag= 1.0, Try= 0.1, Ugmaz= 0.7

24 0O0OO00O0OoOoooDbobOboOooooon
241 O0O0O0O

oOoOoo0oobooobooboboo0obboobobuooobbUoognD 213000
0000000000 ASO0ODOO0OO000U000D0D0DoDDoOOOODOOOO00O00OoOoO
000000000000 000000000000000000 ADODODOoOOOoO
OO00oo00dO0o0obObOO0oObOO0Oob0o0bU0obO0oOoUoOD 400Db0O0ODOODO
gobbogoobobooobobooboooobbbooooboboboooobbooonDn
ggoobbboogobbbuooobbbooobbooon

242 OJ00O0OO0OODOODOO

Oo0oob0boooboo0obboobobooobooobbooobbOoo 250000
gobobooooobooooboobooooobbbooodbobboooobbooooo
gbobbogoobobuooobobooobbbooooboboooobn

000000000 @ AyqUamas/Dra < 10.0 (2.19)

0O00O0Doo : \/Kp2 + (K1/(27))? AsoUpmaz/Dre <10.0  (2.20)
0000000 ¢ AsUgmax/Drs < 0.08 (2.21)

000000000000000 [200000000000000000000000O0
gobbogoobobuoooboboboooobbbooodbobboooobbooonn
00000000000 fO0DO0O0OO0OOCODODODOOOODOOOOOOOOD
OO0DO000000Db0O003HzO00 1H2OOODOODOODOOOOO



50

020 0000000000O0O0O00000000

026 O000000OO0O0ODOO UnitlOODOOOOODO
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1 AVR AVR AVR CPSS 0.47 p.u.
2 AVR AVR AVR CPSS | e (.39 p.u.
CGOV
AVR AVR AVR  FLEX | e—— (.69 D.u.
4 AVR AVR AVR FLEX | e—— .72 D.U.
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5 AVR AVR AVR 00O 0.76 p.u.
CPSS CPSS CPSS CPSS | e—— (.59 p.u.
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